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1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0

Answers

1. 3

2. 41.91

3. 115.042

4. 65.05

5. 90.8

6. -20.55

7. 101.97

8. -56.694

9. -11.499

10. 48.95

11. -6.18

12. 15

13. -14.48

14. 145.21

15. 134.05

16. 103.655

17. 29.69

18. -92.991

19. 22.467

20. 88.095

Solve each problem

1) 18 + (-15) = 3

2) 71 + (-29.09) = 41.91

3) 25.037+ 90.005 = 115.042

4) 77.05 - 12 = 65.05

5) 71.8 - (-19) = 90.8

6) 56.45 + (-77) = -20.55

7) 59 - (-42.97) = 101.97

8) 8.396 + (-65.09) = -56.694

9) 12.6 + (-24.099) = -11.499

10) 90 - 41.05 = 48.95

11) 49.9 - 56.08 = -6.18

12) 12 - (-3) = 15

13) 50.55 + (-65.03) = -14.48

14) 58 - (-87.21) = 145.21

15) 67 + 67.05 = 134.05

16) 38.655 + 65 = 103.655

17) 34.75 + (-5.06) = 29.69

18) 5 - 97.991 = -92.991

19) 39.087 - 16.62 = 22.467

20) 38.095 - (-50) = 88.095
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Modified

Solve each problem

3 -6.18 -11.499 101.97 90.8

115.042 41.91 48.95 -20.55 65.05

15 -56.694

1) 18 + (-15) = 3

2) 71 + (-29.09) = 41.91

3) 25.037+ 90.005 = 115.042

4) 77.05 - 12 = 65.05

5) 71.8 - (-19) = 90.8

6) 56.45 + (-77) = -20.55

7) 59 - (-42.97) = 101.97

8) 8.396 + (-65.09) = -56.694

9) 12.6 + (-24.099) = -11.499

10) 90 - 41.05 = 48.95

11) 49.9 - 56.08 = -6.18

12) 12 - (-3) = 15

Answers

1. 3

2. 41.91

3. 115.042

4. 65.05

5. 90.8

6. -20.55

7. 101.97

8. -56.694

9. -11.499

10. 48.95

11. -6.18

12. 15

1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0
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